Ratio to ATLAS

d?o /1 d m™ d |y™™ [pbiGeV]

<
=

o
R

0.5

13000 GeV pp tt
_' T T 7 | T T T T T T T | T T T T T T | L I I T |_ ﬂ
| | o
M(ttbar) (ATLAS semileptonic ttbar) B
— -5
— m ATLAS i P
— —4— Pythia 8.226 default N
— - - Pythia 8.226 default-CD 19
— ----- Pythia 8.226 default-DL 15
L A Pythia 8.226 default-MBR 1
. =
N iy
o™
— =
™
O
- —1O
™
—i
=
L —X
— 1.,
L e
_ 1<
c
i 18
a
o g
)
L | | | | | | | | | | | | | | | | E
: T | T T T T | T T T T | T T T T |:

— =2
1

_ —0.5

1 " | " 1 1 " 1 " 1 " | " 1 " 1 " 1 " 1 " | " 1 " 1 " 1 " 1 " |
500 1000 150(?b { 2000
ar .
m® 4 1GeVvy, [y in [1.2,2.5]



	Contents
	Page 1


